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(2x + 9)(9x* — 7x— 7) (7x* — 2x — 2)(4x + 7)
(8x — 2)(6x +2) (5= 9)(9x + 5)
(3% +x+ D(5x—7) (5% + 3)(6x — 2)
(9 + 6x)(4x + 1) (7x% + 6x + 6)(8x — 4)
(9x + 8)(2x* + 2x + 2) (7x + 1)(5x + 1)
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2 THA T RE A fe
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(2x+ 9) (9 — Tx— 7)
183> + 67x% — 77x — 63

(8x — 2)(6x +2)
485° + dx — 4

(3x% + x+ D(5x— 7)
158 — 16x° —2x— 7

(9 + 6x)(4x + 1)
24x> + Dx+9

(9x + 8)(2x% + 2x + 2)
18%° + 34x% + 34x+ 16

(7x% — 2x — 2)(4x + 7)
28x° + 41x* — 2x— 14

(5—9%)O9x+5)
—81x% + 25

(5% + 3)(6x — 2)
30x° — 10 + 18x— 6

(7% + 6x+ 6)(8x — 4)
56x° + 20x2 + 24x — 24

(7x+ D)(5x+ 1)
35x7 4+ 12x+ 1

www.snowmath.com



https://www.snowmath.com

